

Research Article

On an Iterative Method to Solve 2th Order Homogeneous Linear Differential Equations

J. Morales^a, G. Ovando^a, J.H. Caltenco^b and J. López-Bonilla^b

^aCBI-Área de Física AMA, Universidad Autónoma Metropolitana-Azcapotzalco, Av. San Pablo 180, Col. Reynosa-Tamps. CP 02200, México DF

^bESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 5, 1er. Piso, Col. Lindavista CP 07738, México DF

Corresponding author: J. López-Bonilla; E-mail: jlopezb@ipn.mx

Received 5 October 2013; Accepted 14 November 2013

Abstract: The works [1-5] employ an asymptotic iteration method to solve 2th order homogeneous linear differential equations, searching a special structure for one of the corresponding solutions. In such References is not mentioned that this type of solution must be polynomial and that its existence is governed by a Riccati's equation, which is evident in the present approach.

Keywords: Riccati's equation; Asymptotic iteration method.

1. Introduction

The method exhibited in [1-5] concerns to the homogeneous differential equation:

$$y'' - \lambda_0(x)y' - S_0(x)y = 0, \quad \lambda_0 \neq 0, \quad (1)$$

searching a solution with the structure:

$$y = \exp\left(-\int^x \alpha(t)dt\right), \quad (2)$$

then we must indicate the conditions for the existence of $\alpha(x)$ such that (2) verifies (1), which is realized in Sec. 2, thus α satisfies the Riccati equation [6-9] and the procedure from [1-5] only gives polynomial solutions for (1). In Sec. 3 we make applications to Hermite, Chebyshev and Laguerre equations.

2. Iterative method

The proposal (2) implies:

$$y' = -\alpha y, \quad (3.a)$$

$$y'' = (\alpha^2 - \alpha')y, \quad (3.b)$$

then (1) gives the compatibility condition:

$$\alpha' - \alpha^2 - \lambda_0 \alpha + S_0 = 0, \quad (4)$$

a Riccati equation [6-9], whose importance is not explicitly in [1, 3-5] but it is mentioned in [2]. That is, $\alpha(x)$ must satisfy (4) if (2) is a solution of (1).

In (3.b) we employ (4) to obtain:

$$y'' = (S_0 - \lambda_0 \alpha)y, \quad (5)$$

thus it is natural to search the cancellation of the right member:

$$\alpha = \frac{S_0}{\lambda_0}, \quad (6)$$

$$\therefore y'' = 0, \quad (7.a)$$

which implies:

$$y''' = 0, \quad (7.b)$$

then it is necessary to apply $\frac{d}{dx}$ to (1) and to use (5) to eliminate y'' in the final expression:

$$y''' - \lambda_1 y' - S_1 y = 0, \quad (8.a)$$

$$S_1 = S_0' + S_0 \lambda_0', \quad \lambda_1 = \lambda_0' + \lambda_0^2 + S_0. \quad (8.b)$$

If (3.a) is applied in (8.a):

$$y''' = (S_1 - \lambda_1 \alpha)y,$$

therefore from (6) and (7.b) we deduce the restriction:

$$\alpha = \frac{S_0}{\lambda_0} = \frac{S_1}{\lambda_1}, \quad (9)$$

where we substitute the relations (8.b) to obtain the compatibility condition:

$$R_0 \equiv \lambda_0 S_0' - S_0 \lambda_0' - S_0^2 = 0, \quad (10)$$

The proposal (6) gives the solution (2) if $\alpha = S_0/\lambda_0$ satisfies (4), in fact:

$$\frac{d}{dx} \left(\frac{S_0}{\lambda_0} \right) - \left(\frac{S_0}{\lambda_0} \right)^2 - S_0 + S_0 = 0,$$

with $R_0 = 0$, in harmony with (10). In resumé, (2) is a solution of (1) with α given by (6) if the functions S_0 and λ_0 verify (10) [which it is equivalent to ask (9)].

From (4) and (6) we deduce that $\alpha' - \alpha^2 = 0$, whose solution is immediate:

$$\alpha = \frac{S_0}{\lambda_0} = \frac{1}{q_1 - x}, \quad (11.a)$$

being q_1 an arbitrary constant, thus (2) implies:

$$y(x) = q_1 - x, \quad (11.b)$$

then $y' = -1$ & $y'' = 0$, in accordance with (3.a), (6), (7.a) and (11.a). It is important to emphasize that in the case (9) the functions S_0 and λ_0 must satisfy (11.a), and thus necessarily the solution of (1) shall have the form (11.b). The equation (1) is homogeneous, therefore any constant multiple of (11.b) also is a solution.

From (7.b), $y''' = 0$, then:

$$y^{iv} = 0 \quad (12)$$

which originates the application of $\frac{d}{dx}$ to (8.a), where we employ (1) to eliminate y'' in the final relation:

$$y^{iv} - \lambda_2 y' - S_2 y = 0, \quad (13.a)$$

$$S_2 = S_1' + S_0 \lambda_1, \quad \lambda_2 = \lambda_1' + \lambda_0 \lambda_1 + S_1 \quad (13.b)$$

If in (13.a) we use (3.a):

$$y^{iv} = (S_2 - \lambda_2 \alpha) y,$$

and its comparison with (12) implies:

$$\alpha = \frac{S_2}{\lambda_2} = \frac{S_0}{\lambda_0}, \quad (14)$$

of easy verification because there we can substitute (13.b) to deduce that:

$$\frac{d}{dx} R_0 + \lambda_0 R_0 = 0 \quad \therefore 0 = 0 \quad [\text{from (10)}].$$

With successive derivatives we can construct similar equations to (8.a), (13.a), etc., therefore:

$$y^{(n+2)} - \lambda_n y' - S_n y = 0, \quad (15.a)$$

$$S_n = S_{n-1}' + S_0 \lambda_{n-1}, \quad \lambda_n = \lambda_{n-1}' + \lambda_0 \lambda_{n-1} + S_{n-1}, \quad (15.b)$$

$$y^{(n+2)} = (S_n - \lambda_n \alpha) y, \quad (15.c)$$

and we notice that:

$$\alpha = \frac{S_0}{\lambda_0} = \frac{S_1}{\lambda_1} \quad \Rightarrow \quad \alpha = \frac{S_2}{\lambda_2} = \frac{S_3}{\lambda_3} = \dots,$$

because $y^{(m)} = 0$, $m=2,3,\dots$

Instead (9), it may occur that:

$$\alpha = \frac{S_1}{\lambda_1} = \frac{S_2}{\lambda_2}, \quad (16.a)$$

which it would imply:

$$\alpha = \frac{S_3}{\lambda_3} = \frac{S_4}{\lambda_4} = \dots, \quad (16.b)$$

because $y^{(r)} = 0$, $r = 3, 4, \dots$, with the fulfillment of the Riccati equation (4) and $y(x)$ an polynomial of order two:

$$y(x) = q_2 + q_1x - x^2, \quad (17.a)$$

where the constants q_1 and q_2 are obtained via:

$$\alpha = -\frac{q_1 - 2x}{q_2 + q_1x - x^2}, \quad (17.b)$$

and from (5) and (17.a) we deduce the relation:

$$q_2S_0 + q_1(\lambda_0 + S_0x) - (2\lambda_0 + S_0x)x = -2, \quad (18)$$

instead (11.a). We remember that S_0 and λ_0 are data; if we find constants q_1 and q_2 verifying (18) then (17.a) is a solution of (1), besides also the expressions (16.a, b) and (17.b) are satisfied.

The previous results can be generalized, in fact, if we have n such that:

$$\alpha = \frac{S_{n-1}}{\lambda_{n-1}} = \frac{S_n}{\lambda_n}, \quad (19)$$

then $y(x)$ given by (2) is a polynomial of degree n :

$$y(x) = q_n + q_{n-1}x + \dots + q_1x^{n-1} - x^n, \quad (20.a)$$

and it is a solution of (1), where the constants q_j are constructed via:

$$\alpha = -\frac{y'}{y} = -\frac{q_{n-1} + 2q_{n-2}x + \dots + (n-1)q_1x^{n-2} - nx^{n-1}}{q_n + q_{n-1}x + \dots + q_1x^{n-1} - x^n} \quad (20.b)$$

With (15.b) and (19) we can to verify the fulfillment of (4), which permits to guarantee that (2) is solution of (1). The condition (19) implies:

$$\alpha = \frac{S_{n+1}}{\lambda_{n+1}} = \frac{S_{n+2}}{\lambda_{n+2}} = \dots,$$

because $y^{(m)} = 0, m = n + 1, n + 2, \dots$

We emphasize that all solutions of (1), with the form (2) and the property (19), are polynomials, which is not indicated explicitly in [1, 3-5], besides in these References does not mentioned the Riccati equation (4) which is fundamental for the existence of a solution with the characteristics (2) and (19), to see [2].

It is known [10] that if $y_1(x)$ is a solution of the homogeneous equation:

$$p(x)y'' + q(x)y' + r(x)y = 0, \tag{21.a}$$

then the other solution of (21.a) is given by:

$$y_2(x) = y_1(x) \int^x \frac{\exp\left(-\int^\eta \frac{q(t)}{p(t)} dt\right)}{[y_1(\eta)]^2} d\eta \tag{21.b}$$

The comparison of (1) and (21.a) gives $p = 1, q = -\lambda_0, r = -S_0$ & $y_1 = \exp\left(-\int^x \alpha(t) dt\right)$, thus from (21.b) results:

$$y_2 = y_1 \int^x \exp\left[\int^\eta (\lambda_0(t) + 2\alpha(t)) dt\right] d\eta, \tag{22}$$

which is the equation (2.12) in [1] (or the equation (8) in [2]). We indicate that $y_1(x)$ always is a polynomial due to (19), however, $y_2(x)$ is not necessarily a polynomial.

3. Hermite, Chebyshev and Laguerre Equations

Here we apply the iterative method exhibited in Sec. 2 to construct polynomial solutions.

a).- Hermite's equation [11-14]:

$$y'' - 2xy' + 2ky = 0,$$

with $k = 1$, then $S_0 = -2, \lambda_0 = 2x$, and from (8.b) results that $S_1 = -4x, \lambda_1 = 4x^2$, besides (9) is verified:

$$\alpha = \frac{S_0}{\lambda_0} = \frac{S_1}{\lambda_1} = -\frac{1}{x},$$

and its comparison with (11.a) gives $q_1 = 0$, and (11.b) generates the corresponding solution of (1):

$$y(x) = x \propto H_1(x) = 2x.$$

If now we employ $k = 2$, we have $S_0 = -4, \lambda_0 = 2x, S_1 = -8x, \lambda_1 = 4x^2 - 2, S_2 = -16x^2, \lambda_2 = 8x^3 - 4x$, where we used (13.b), and (16.a) is satisfied:

$$\alpha = \frac{S_1}{\lambda_1} = \frac{S_2}{\lambda_2} = -\frac{-2x}{\frac{1}{2} - x^2} ,$$

with the structure (17.b), thus $q_1 = 0$, $q_2 = \frac{1}{2}$, and the solution (17.a) adopts the form:

$$y(x) = \frac{1}{2} - x^2 \propto H_2(x) = -2 + 4x^2, \quad \text{etc.}$$

In this manner, for each value of k we can to construct the corresponding Hermite's polynomial.

b).- Chebyshev's equation [12, 15, 16]:

$$y'' - \frac{x}{1-x^2}y' + \frac{k^2}{1-x^2}y = 0 ,$$

for $k = 3$, then:

$$S_0 = -\frac{9}{1-x^2} , \quad \lambda_0 = \frac{x}{1-x^2} , \quad S_1 = -\frac{27x}{(1-x^2)^2} ,$$

$$\lambda_1 = \frac{11x^2 - 8}{(1-x^2)^2} , \quad S_2 = \frac{45(1-4x^2)}{(1-x^2)^3} , \quad \lambda_2 = \frac{15(4x^3 - 3x)}{(1-x^2)^3} , \dots$$

such that:

$$\alpha = \frac{S_2}{\lambda_2} = \frac{S_3}{\lambda_3} = -\frac{\frac{3}{4} - 3x^2}{\frac{3}{4}x - x^3} ,$$

with $q_1 = 0$, $q_2 = \frac{3}{4}$, $q_3 = 0$, and from (20.a):

$$y(x) = \frac{3}{4}x - x^3 \propto T_3(x) = -3x + 4x^3, \quad \text{etc,}$$

Thus, for each value of k , this method gives a Chebyshev's polynomial.

c).- Laguerre's equation [12, 13, 17, 18]:

$$y'' + \frac{1-x}{x}y' + \frac{k}{x}y = 0 ,$$

with $k=3$, therefore:

$$S_0 = -\frac{3}{x} , \quad \lambda_0 = -\frac{1-x}{x} , \quad S_1 = \frac{6-3x}{x^2} , \quad \lambda_1 = \frac{x^2 - 5x + 2}{x^2} ,$$

$$S_2 = \frac{-18 + 18x - 3x^2}{x^3} , \quad \lambda_2 = \frac{-6 + 18x - 9x^2 + x^3}{x^3} , \dots$$

and (20.b) is satisfied:

$$\alpha = \frac{S_2}{\lambda_2} = \frac{S_3}{\lambda_3} = -\frac{-18 + 18x - 3x^2}{6 - 18x + 9x^2 - x^3},$$

for $q_1 = 9$, $q_2 = -18$, $q_3 = 6$:

$$y(x) = 6 - 18x + 9x^2 - x^3 = 6L_3(x) , \quad \text{etc.}$$

We conclude that this iterative method is useful to construct polynomial solutions of differential equations of second order, linear and homogeneous.

References

- [1] H. Ciftci, R.L. Hall and N. Saad, Asymptotic iteration method for Eigenvalue problems, *J. Phys. A: Math. Gen.*, 36(2003), 11807-11816.
- [2] F.M. Fernández, On an iteration method for Eigenvalue problems, *J. Phys. A: Math. Gen.*, 37(2004), 6173-6180.
- [3] N. Saad, R.L. Hall and H. Ciftci, Criterion for polynomial solutions to a class of linear differential equations of second order, *J. Phys. A: Math. Gen.*, 39(2006), 13445-13454.
- [4] A. Rostami and H. Motavali, Asymptotic iteration method: A powerful approach for analysis of inhomogeneous dielectric slab waveguides, *Prog. Elect. Res.*, B4(2008), 171-182.
- [5] S. Debnath and B. Biswas, Analytical solutions of the Klein-Gordon on equation for Rosen-Morse potential via asymptotic iteration method, *EJTP*, 9(26) (2012), 191-198.
- [6] J. Riccati, Animadversiones in aequationes differentials secundi gradus, *Actorum eruditorum quae lipsiae publicantur, Suppl.*, 8(1724), 66-73.
- [7] H.T. Davis, *Introduction to Nonlinear Differential and Integral Equations*, Dover, New York, 1962.
- [8] E.S. Kryachko, Notes on the Riccati equation, *Collect. Czech. Chem. Comm.*, 70(2005), 941-950.
- [9] R.S. Cruz, J. López-Bonilla and J. Morales, Riccati equation and Darboux transform, *The SciTech., J. of Sci. & Tech.*, 2(2) (2003), 1-4.
- [10] M.V. Soare, P.P. Teodorescu and I. Toma, *Ordinary Differential Equations with Applications to Mechanics*, Springer, Berlin, 2007.
- [11] Ch. Hermite, Sur un nouveau développement en série de fonctions, *Compt. Rend. Acad. Sci. Paris*, 58(1864), 93-100 & 266-273.
- [12] N.M. Temme, *Special Functions*, John Wiley & Sons, New York, 1996.
- [13] J.H. Caltenco, J. López-Bonilla, R. Peña and A. Xequé, Fourier transform and polynomials of Hermite and Laguerre, *Rev. Mat. Apl.*, 23(1-2) (2002), 1-5.
- [14] A. Bucur, J. López-Bonilla and M.B. Robles, On a generating function for the Hermite polynomials, *J. Sci. Res.*, 55(2011), 173-175.
- [15] P.L. Chebyshev, Théorie des mécanismes connus sous le nom de parallélogrammes, *Mém. Acad. Sci. Pétersb.*, 7(1854), 539-568.
- [16] J.H. Caltenco, J. López-Bonilla, M. Martínez and R. Peña, Pascal triangle for the Chebyshev-Lanczos polynomials, *J. Bangladesh Acad. Sci.*, 26(1) (2002), 115-118.
- [17] E.N. Laguerre, Sur l'intégrale $\int_x^{+\infty} x^{-1} e^{-x} dx$, *Bull. Soc. Math. France*, 7(1879), 72-81.
- [18] J. López-Bonilla, A.B. Lucas and S. Vidal, Integral relationship between Hermite and Laguerre polynomials: Its application in quantum mechanics, *Proc. Pakistan Acad. Sci.*, 42(1) (2005), 63-65.

Copyright © 2014 J. Morales, G. Ovando, J.H. Caltenco and J. López-Bonilla. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.